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Jdomamnee 3apanue mo reme: «JAuddepenuupoBanne GyHKIMH,
3a/IaHHBIX IBHO M HESIBHO)
Haiitu npousBonusie pynkmmii Y = f(X):
a a X
1) y=x% +a* +a* (a>0, azl);

2) y =log,e;
3) (697) Y =X+ VX +/X ;

e —e*
4)(762) y =Incos arctg{ 5 } ;

5) (761) y = x-(arcsin X)2 —2X +24/1—x? -arcsin X;
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6)(759) vy
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1+thx
7) (646) y =4 ;
) (646) Y ‘/1—thx
. . 1+tg—
8) (757) y = simX 3sin X +§1n 2 :

4cos*x  8cos’x 8 l—tgé

V14X =~/1-x
V14X +/1-=X

[

9)(765) y = ln( J+ 2arctg 1=x

10) (653) y = (Inx)*;
11) (657) y = x"%;

12) (651) y=x*
13) (811) y-sinX—cos(X—Yy)=0;

14) X+ey/x+3\/gzo;
X y

15) (804) x¥ = y*
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